LY X 2 S BRE5EN BEE 55 12—V

RLA7AYRXTT oy 200mg/body dil
CBDCA+PEM+* 4 FIL—4&  ~_xbLF&F =¥ 500mg/m? d1 21H
ALRTSF =E AUC5 d1
~LA7AaYR<T =i 200mg/body d1l
CDDP+PEM+F 4 biL—4& NARLEER =¥ 500mg/m? d1 21H
SRTSF v =¥ 75mg/m? d1
PEM+¥ A kiL—% NRLTAYZRT =¥ 200mg/body dl 218
(X TF2R) R~RAMLFEF =¥ 500mg/m? d1
RLATRAYX<T =y 200mg/body dl
CBDCA+nab-PTX+# A hJL—% nab-/¢2 U & F+IL =E 100mg/m? di, dg, di5 21H
HIWVRTZF > =y AUC6 dl
TFVURTT =y 1200mg/body d1
CBDCA+nab-PTX+7+> kU2 nab-/¢27 1) 2%+ i 100mg/m? di, ds8, di5 218
HLVRTFF v =y AUC6 d1
RLATRAYX<T =y 200mg/body dl
CBDCA+PTX+F A hiL—& /87 ZF 4L =¥ 200mg/m? d1 21H
HIWVRTZF > =y AUC6 dl
TFVURTT =y 1200mg/body d1
NN TS =8 15mg/kg dl
Bev+PTX+CBDCA+FE> k1 2 . 21H
R ZELIL b 200mg/m? d1
HIVRTZF > =y AUC6 d1l
RTSF v =¥ 80mg/m? d1
CDDP+GEM \ - 21A8
FLYRE Y f=gi 1000mg/m? d1, d8
RAPLELER =¥ 500mg/m? dl
CDDP+PEM ) - 21A8
SRTSTF v =g 75mg/m? d1
RAPLELER =¥ 500mg/m? dl
Bev+CDDP+PEM SRTSF v =i 75mg/m? d1 21H
NN T T 9 15mg/kg dl
Feg¥ti =E 60mg/m? d1
CDDP+DTX ) 21H
SRTTFv =E 80mg/m? d1
SRTTF v =E 60mg/m? ds
CDDP+S-1 28H
TA—IRTY MAR 80mg/m?/day dl (#) ~d22 (&)
L)/ Fhv A 60mg/m? di, ds8, di5
CDDP+CPT-11 ) 28H
SRTTFv =E 80mg/m? d1
E/LiEy f=gi] 25mg/m? di, d8
CDDP+VNR ) 21H
RTSF v =¥ 80mg/m? d1
FLYRE Y = 2 dl, d8
GEM-+CBDCA . " 1000me/m 218
ALETSF =E AUC5 d1
RAFLFER = 2 d1l
PEM+CBDCA - i 500me/m 217
ALETSF =E AUC6 d1
SLYNTT =¥ 10mg/m? d1
Ram+DTX \ 21H
FtxEtiL =¥ 60mg/m? d1
RAPLELR =¥ 500mg/m? d1
Bev+PEM+CBDCA ALETSF =E AUC6 d1 218
NN 2T U 15mg/kg dl
Bev+PEM RAPLFELR =¥ 500mg/m? dl 218
(XvFF>2R) RN R T =¥ 15mg/kg dl
ALRTSF =E AUC5 d1
CBDCA+S-1 21H

FA—TRT v MR 80mg/m?/day dl (#) ~di15 (88)




CBDCALCPT 11 ANKTSF v =i AUC2.5 d1 LB
A9/ 57h> =¥ 50mg/m? dl
CBDCALVNR E/LLEY B 25mg/m? di, ds8 288
ANRTSF =g AUC5 d1
nab-/¥27 ) & ¥+ = 100mg/m? dl, dg, di5
Bev+nab-PTX+CBDCA HINRTZF oy AUC6 d1 21H
RNV AT =3 15mg/kg dl
bPTX4CBDCA nab-/¥7 U 2 £ R 100mg/m’ di, d8, di5 -
ANKRTSF v T AUC6 d1
STy 4+ CBDCA RO ZFLIL i 200mg/m? d1 21
ANKRTSF v T AUC6 d1
"YU RELIL =g 200mg/m? d1
Bev+PTX+CBDCA ANRT S F v =i AUC6 d1 21H
RN AT =y 15mg/kg d1l
Bev (X v T+ XR) NN RX2T = 15mg/kg d1l 21H
(RTH4F) weeklyPTX+CBDCA ~ ~ ° 2 &/ R 40me/m’" s o e 630
HIVLRTFF =t} AUC2 d1, d8, di5, d22, d29, d36
F7Y—R (q2w) =y, o =V 240mg/body d1 14H
F7 V=% (g4w) =X v T 480mg/body d1 28H
F4 hiL—% (g3w) ~LA7RaYX<TT J=pii] 200mg/body dl 21H
4 FL—4% (gbw) RLA7OYRTT T 400mg/body d1 42R
A274> T a7 =y 10mg/kg dil 148
FEY YUY TIVUXTT T 1200mg/body d1 218
DTX Ktg®tiL =¥ 60mg/m? d1 21H
PEM RAMLFEFR S 500mg/m? d1 218
CPT-11 1)/ Fhv = 100mg/m? di, d8, di5 28H
GEM FLYRE Y =¥ 1000mg/m? dl, d8, dib 28H
VNR E/LEy =g 25mg/m? di, d8 218
AMR TLILEY Y =¥ 35mg/m’ d1, d2, d3 21H




